
1

51012
5/8 F436 (A325 Struc F/W)

1
Safety Cable for ETA Hangers

5/8 F436 (A325 Struc F/W)
5/8-11 Anco 2H Coloc Nut

2
M16x2.0 x 130mm HHB

25170 ETA-8 Block Hanger

3

5/8-11 x 2 1/2" A325 Bolt 

4 53405

ETA-8 Hanger Clip 

2
2

ETA-8 Rollover Clip

5/8-11 x 2 3/4" A325 BOLT 

25702 ETA-8 Hanger Clip Assembly 1

STOCK
CODEREF. DESCRIPTION QUANTITY

27061 ETA-8 BEAM HANGER   

34

1

3
2

4

ETA-8 RAIL

5

1/2-13 x 4 1/2" Rod End
1/2-13 Top Lock Nut

180/215 Mach. Hanger Casting
M16x2.0 Prevailing Torque Nut
ETA-8 Hanger Block

1

5 25/8-11 Anco 2H Coloc Nut52315

© Copyright 2014, Unified Industries, Inc. All Rights Reserved.  www.unified-ind.com


